MAT 011, Exam #3, Fall 2015

Instructions: Show all work. Reduce as much as

to round.

1. Simplify each expression. Write the fina
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| result with positive

possiblejand use exact answers unless specifically asked

exponents only. (3 points each)
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2. For each polynomial, i) state whether itlis a monpmial, binomial, trinomial or none of these; ii)
the degree of the polynomial. (2 points each)
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3. Perform the indicated operation. Simplify. (4 poipts each)
a. 3x(2x+5)
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4. Complete the table. (2 points each)

Standard Notation

Scientific Notation
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5. Divide. Use long division when the deno

Remainder :
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1an one term. Write any remainder



